Received: 01/27/1998 Status: CANCELLED Effective Date: 02/01/1998

..DID: 2247

..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV

COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 12

INITIAL EFFECTIVE DATE: 02/01/98

STAMPS:

Cancelled by Statement NGV Number 13 Effective 03/01/1998

RECEIVED: 01/27/98 STATUS: Cancelled EFFECTIVE: 02/01/98

STATEMENT OF NATURAL GAS VEHICLE RATE

February 1, 1998

Owego District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

		Floor	Rate			ket Baling 1						atura Rate				
		per Cherm	per Ga Equivl	1. p	er herm	pe:	r Gal uivlnt		р	er erm	pe	er Gal uivl	1.			
Category	1A	\$0.70	474	\$0.804		\$1.0	L363		\$1.	156		\$0.85	5671		\$0.	977
Category	1B	\$0.70	474	\$0.804		\$1.39	9053		\$1.	586		\$1.15	5979		\$1.	322
Category	1C	\$0.70	474	\$0.804		\$0.9	5383		\$1.0	880		\$0.85	5267		\$0.	972
Category	2A	\$0.72	508	\$0.827		\$1.0	L363		\$1.	156		\$0.8	7705		\$1.	000
Category	2B	\$0.72	508	\$0.827		\$1.39	9053		\$1.	586		\$1.18	3013		\$1.	346
Category	2C	\$0.72	508	\$0.827		\$0.9	5383		\$1.0	880		\$0.87	7300		\$0.	995
W I	T H	I		C O	М	P	R		E	S	S	I		0	N	:
Category	3A	\$0.58	177	\$0.663		\$1.0	L363		\$1.	156		\$0.92	L785		\$1.	047
Category	3B	\$0.58	177	\$0.663		\$1.39	9053		\$1.	586		\$0.99	9973		\$1.	140
Category	3C	\$0.58	177	\$0.663		\$0.9	5383		\$1.0	880		\$0.86	5703		\$0.	989
W I T	г н	O U	Т		С	0	M I	Ρ	R	E	S	S	I	0	N	:
Category	3A	\$0.56	143	\$0.640		\$1.0	L363		\$1.	156		\$0.89	€752		\$1.	023
Category	3B	\$0.56	143	\$0.640		\$1.39	9053		\$1.	586		\$0.97	7940		\$1.	117
Category	3C	\$0.56	143	\$0.640		\$0.9	5383		\$1.0	880		\$0.84	1670		\$0.	965
Category	4	\$0.72	1508	\$0.827		\$1.0	1363		\$1.	156		\$0.8	7705		\$1.	000

Issued By: George E. Bonner, Vice President, Binghamton, New York
(Name of Officer, Title, Address)

STATEMENT NO: 12

PAGE: 2

STATEMENT OF NATURAL GAS VEHICLE RATE

February 1, 1998

Goshen District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate-	Market Bas Ceiling Ra		le Natural icle Rate-	
	per per (Therm Equiv	Gal. per per	Gal. per vlnt Therm	per Gal. Equivlnt	
Category 1A	\$0.55544	\$0.633 \$1.066	26 \$1.216	\$0.90145	\$1.028
Category 1B	\$0.55544	\$0.633 \$1.390	53 \$1.586	\$1.15979	\$1.322
Category 1C	\$0.55544	\$0.633 \$0.924	19 \$1.054	\$0.82600	\$0.942
Category 2A	\$0.57575	\$0.656 \$1.066	26 \$1.216	\$0.92176	\$1.051
Category 2B	\$0.57575	\$0.656 \$1.390	53 \$1.586	\$1.18010	\$1.346
Category 2C	\$0.57575	\$0.656 \$0.924	19 \$1.054	\$0.84631	\$0.965
WIT	Н	C O M P	R E S	S I O	и :
W I I	n	C O M P	K L 5	5 1 0	11
Category 3A	\$0.49615	\$0.566 \$1.066	26 \$1.216	\$0.83491	\$0.952
Category 3B	\$0.49615	\$0.566 \$1.390	53 \$1.586	\$0.99971	\$1.140
Category 3C	\$0.49615	\$0.566 \$0.924	19 \$1.054	\$0.84159	\$0.960
	O U T	C O M	I P R E	S S I O	NT .
WITH	O U T	C O M	I P R E	S S I O	N :
Category 3A	\$0.47584	\$0.543 \$1.066	26 \$1.216	\$0.81460	\$0.929
Category 3B	\$0.47584	\$0.543 \$1.390	53 \$1.586	\$0.97940	\$1.117
Category 3C	\$0.47584	\$0.543 \$0.924	19 \$1.054	\$0.82128	\$0.936
Category 4	\$0.57575	\$0.656 \$1.066	\$26 \$1.216	\$0.92176	\$1.051

Issued By: <u>George E. Bonner, Vice President, Binghamton, New York</u>
(Name of Officer, Title, Address)

STATEMENT NO: 12

PAGE: 3

STATEMENT OF NATURAL GAS VEHICLE RATE

February 1, 1998

Lockport District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate	Market BasedCeiling Rate	Applicable Natural -Gas Vehicle Rate-	
	per per (Therm Equiv	Gal. per per Gal.	per per Gal. Therm Equivlnt	
Category 1A	\$0.73069	\$0.833 \$1.07503	\$1.226 \$0.90890	\$1.036
Category 1B	\$0.73069	\$0.833 \$1.39053	\$1.586 \$1.15979	\$1.322
Category 1C	\$0.73069	\$0.833 \$0.95383	\$1.088 \$0.85267	\$0.972
	4	4	4-13-3	, , , , , ,
Category 2A	\$0.75081	\$0.856 \$1.07503	\$1.226 \$0.92903	\$1.059
Category 2B	\$0.75081	\$0.856 \$1.39053	\$1.586 \$1.17991	\$1.345
Category 2C	\$0.75081	\$0.856 \$0.95383	\$1.088 \$0.87279	\$0.995
WIT	Н	C O M P R	E S S I O	N :
Category 3A	\$0.56928	\$0.649 \$1.07503	\$1.226 \$0.90688	\$1.034
Category 3B	\$0.56928	\$0.649 \$1.39053	\$1.586 \$0.99952	\$1.140
Category 3C	\$0.56928	\$0.649 \$0.95383	\$1.088 \$0.88230	\$1.006
WITE	H O U T	C O M P	R E S S I O	и :
Category 3A	\$0.54916	\$0.626 \$1.07503	\$1.226 \$0.88675	\$1.011
Category 3B	\$0.54916	\$0.626 \$1.39053	\$1.586 \$0.97940	\$1.117
Category 3C	\$0.54916	\$0.626 \$0.95383	\$1.088 \$0.86218	\$0.983
Category 4	\$0.75081	\$0.856 \$1.07503	\$1.226 \$0.92903	\$1.059

STATEMENT NO: 12 PAGE: 4

STATEMENT OF NATURAL GAS VEHICLE RATE

February 1, 1998

Elmira District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate-	Market BasedCeiling Rate	Applicable Natural -Gas Vehicle Rate-	
	per per G Therm Equiv	Gal. per per Gal.	per per Gal.	
Category 1A	\$0.75521	\$0.861 \$1.03994	\$1.186 \$0.87908	\$1.002
Category 1B	\$0.75521	\$0.861 \$1.39053	\$1.586 \$1.15979	\$1.322
Category 1C	\$0.75521	\$0.861 \$0.89457	\$1.020 \$0.79934	\$0.911
Category 2A	\$0.77533	\$0.884 \$1.03994	\$1.186 \$0.89920	\$1.025
Category 2B	\$0.77533	\$0.884 \$1.39053	\$1.586 \$1.17991	\$1.345
Category 2C	\$0.77533	\$0.884 \$0.89457	\$1.020 \$0.81946	\$0.934
	•			NT .
WIT	Н	C O M P R	E S S I O	N :
Category 3A	\$0.57077	\$0.651 \$1.03994	\$1.186 \$0.92097	\$1.050
Category 3B	\$0.57077	\$0.651 \$1.39053	\$1.586 \$0.99952	\$1.140
Category 3C	\$0.57077	\$0.651 \$0.89457	\$1.020 \$0.83528	\$0.952
W I T H	O U T	C O M P	R E S S I O	N :
Category 3A	\$0.55065	\$0.628 \$1.03994	\$1.186 \$0.90085	\$1.027
Category 3B	\$0.55065	\$0.628 \$1.39053	\$1.586 \$0.97940	\$1.117
Category 3C	\$0.55065	\$0.628 \$0.89457	\$1.020 \$0.81516	\$0.929
Category 4	\$0.77533	\$0.884 \$1.03994	\$1.186 \$0.89920	\$1.025

Issued By: George E. Bonner, Vice President, Binghamton, New York (Name of Officer, Title, Address)

STATEMENT NO: 12

PAGE: 5

STATEMENT OF NATURAL GAS VEHICLE RATE

February 1, 1998

Combined District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		ket Based ling Rate		le Natural icle Rate-	
	per per (Therm Equiv		per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.75521	\$0.861	\$1.09258	\$1.246	\$0.92382	\$1.053
Category 1B	\$0.75521	\$0.861	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.75521	\$0.861	\$0.93901	\$1.071	\$0.83933	\$0.957
Category 2A	\$0.77533	\$0.884	\$1.09258	\$1.246	\$0.94394	\$1.076
category 2A	\$0.77555	\$0.00 1	\$1.09230	ŞI.240	\$0.94394	\$1.070
Category 2B	\$0.77533	\$0.884	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.77533	\$0.884	\$0.93901	\$1.071	\$0.85946	\$0.980
WIT	Н	с о м	P R	E S	S I O	и :
Category 3A	\$0.57077	\$0.651	\$1.09258	\$1.246	\$0.90886	\$1.036
Category 3B	\$0.57077	\$0.651	\$1.39053	\$1.586	\$0.92219	\$1.052
Category 3C	\$0.57077	\$0.651	\$0.93901	\$1.071	\$0.87869	\$1.002
WITH	I O U T	С	О М Р	R E	S S I O	N :
Category 3A	\$0.55065	\$0.628	\$1.09258	\$1.246	\$0.88874	\$1.013
Category 3B	\$0.55065	\$0.628	\$1.39053	\$1.586	\$0.90207	\$1.029
Category 3C	\$0.55065	\$0.628	\$0.93901	\$1.071	\$0.85856	\$0.979
Category 4	\$0.77533	\$0.884	\$1.09258	\$1.246	\$0.94394	\$1.076

STATEMENT NO: 12 PAGE: 6

STATEMENT OF NATURAL GAS VEHICLE RATE

February 1, 1998

Champlain District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate		ket Based ling Rate		le Natural icle Rate-	
	per per (Therm Equiv	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
Category 1A	\$0.62732	\$0.715	\$1.06626	\$1.216	\$0.90145	\$1.028
category in						
Category 1B	\$0.62732	\$0.715	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.62732	\$0.715	\$0.92419	\$1.054	\$0.82600	\$0.942
Category 2A	\$0.64744	\$0.738	\$1.06626	\$1.216	\$0.92157	\$1.051
Category 2B	\$0.64744	\$0.738	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.64744	\$0.738	\$0.92419	\$1.054	\$0.84612	\$0.965
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.45991	\$0.524	\$1.06626	\$1.216	\$0.94583	\$1.078
Category 3B	\$0.45991	\$0.524	\$1.39053	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.45991	\$0.524	\$0.92419	\$1.054	\$0.87676	\$1.000
W I T H	OUT	С	O M P	R E	S S I O	N :
Category 3A	\$0.43979	\$0.501	\$1.06626	\$1.216	\$0.92571	\$1.056
Category 3B	\$0.43979	\$0.501	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.43979	\$0.501	\$0.92419	\$1.054	\$0.85663	\$0.977
G = 1 = 2 = 2 = 4	ĊO 64744	ė0 720	¢1 06606	ė1 01 <i>C</i>	¢0 001E7	č1 OF1
Category 4	\$0.64744	\$0.738	\$1.06626	\$1.216	\$0.92157	\$1.051

Issued By: George E. Bonner, Vice President, Binghamton, New York (Name of Officer, Title, Address)